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Please make sure that the printed pages in this question paper are 15 in number
and 1t contains 20 questions.
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The Code No. on the top of the question paper Shﬂuid be written by the candidate
on the front page of the answer-book.
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Before beginning to answer a question, its Serial Number must be written.
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Don’t leave blank page/pages in your answer-book.
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Except answer-book, no extra sheet will be given. Write to the point and do not
strike the written answer.
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Candidates must write their Roll No. on the question paper. Except Roll No. do not

write anything on question paper and dﬂnt make any mark on answers of objective
type questions.
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Before answering the question, ensure that you have been supplied the correct and

complete question.paper, no claim in this regard, will be entertained after
examination.
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(i) GUE T % & 5T H efm?qa"_/%éswﬁzrr T & ST 9T % g7 &l

General Instmcﬁ_nns :

(i All questions are compulsory.

(ii) This question paper consists of 20 questions in total which are divided into
four Sections : 'A’', 'B', 'C' and 'D':

Section ‘A’ : Question No. 1 of this Section has sixteen Objective Type
questions. Each question carries 1 mark.

Section 'B': This Section contain ten questions from Question Nos. 2 to 11.
Each question carries 2. marks.

Section 'C' : This Section contain five questions from Questiaﬁ Nos. 12 to
16. Each question carries 4 marks.

Section 'D’' : This Section contain four questions from Question Nos. 17 to
20. Each question carries 6 marks. .

(iii) Section 'D' contains two questions in which internal choices are given. You
have to attempt only one alternative. |
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SECTION - A

e T i G E

Answer the following objective type questions :

2331

(1)

e (A) WH@ldﬁ%lmﬂﬁxﬁ%Q@rﬁWﬁﬁaW%

(B) UH & HEAISA (STHSY WEH Wad) # G

(C) {x:xTH W T & el x< 5 A x> 7}

(D) & FHFR -iiﬂ.laﬁ % IS fdgett &1 T
Which of the following is not a null set ?

(A) Set of odd natural numbers divisiblle. by 2
(B) Set of even prime numbers

[ dxixisa nétural numbef, x <9 and x> ?}

(D) Set of points common to any two parallel lines

(0 FreRiled ¥ dar g 7

(A)... (Av B' = An B
B) (AUB'= AUB’
{C)-I (A NnB)'= ANnB'

D) AnmB'= AnB
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Which of the _foilnwing is correct ?
A) AuvuB'= AnB'

AU B

B) (Avunp-=
C (AnB'= AnB'
D) AnB = AnB
(3) 7—; W R am e T e _ 1
@A) 30° | I
B) %d
(C) 210°

(maﬁﬁﬁ#ﬁ

1S5+,

Degree measure of

(A) 30°
WO R L
(B) 2

(C) 210°

(D) None of thes.e
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(5) ' o 2331

The value of cos '75“ I o saiiigs .

(5) W WA (Complex number) —1++/3i @ AMUH (Modulus) ¥ P

(D) =1=+3i

The modulus of the .complex number: =1+ \/51 is :

(D) <1-+/3i
6) STEHERY (Inequality) 2(x - 3) < 3(x - 1) &1 & T

The solution of the inequality 2(x ~ 3) < Al = 118 v :

AGAIN éﬁ%@ﬁmmﬂma&@iﬁﬁraﬁa@%%wmmﬂﬁ

(7)
g7
(A) 120 (B) €9
() 20 Py O
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The number of different letters of the word with or Witlilout_ meaning which

......

can be made from the letters of the word AGAIN 1S

(A) 120 (B) 60
(€) 20 | 1) et
(8) 1ﬁlooaaaaﬁﬁwaﬂﬁﬁwﬁweﬁ$rﬁvﬁz 1
(A) 2525 I
(B) 5050
(C) 2500

(D) T § k& Tl

The sum of odd integers from 1 to 100 1s :

(A) 2525
(B) 5050
(C) 2500

(D) None of these

© (x-2y) TR AAGT T/ ... 1
' i s _ 7 .
The fourth term in the expansion of (x~2y)" 18 ..........., .
(10) AT Z, i, 2, ......... T 10dl U5 5T STy :

a O 9
S0 7 B

4" 8 un R U
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(11) x @1 AN o o fomgett (x, -1)@'{(3 z)q?rﬁaﬁaﬁﬁwzﬁrw (slope)
2%, | | - 1

(A) 3/2

D) M ¥ %5 7

The value of x for which the line joining (x, —1) and (3, 2) has slope 2 is :
A) 3/2

(B) 3

(C) =3

(D) None of these

(12) éﬁﬂﬁ 9x? + 4y2 ~ 36 @&l Iebadl (eccentricity) - 4 SEE % 1

(A) V5/3

D) FTHHHNBaded from cclchapter.com
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i i
= ]_t i'l-.ﬂ" "‘-‘!’i ¢

The eccentricity of the ellipse 9.:(:2 + 4y__2 =30 157,

(A) 5/3

® 3
(C) 1

(D) None of these

(13) TRl ®&F T ' ' 1

Fill in the blanks :

. Iim o 2% T,
= x—=0 WX
(14J?§1%ﬁ+:ﬂv1ﬁ:.: . . . . . 1
%{cmsecx  COL ) =y vivnins
Fill in the blanks :
gxe(cmaecxtt:ﬂtx);.----r-
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(15) i sieet & R e & Wy e O G RREG '1

Write the formula of mean deviation about mean for grouped data.

(16) Tl PtA):%, p(B);é 3R A T4 B Y UGS ¥eAN 3, a P(A A9l B) &

99 ® _ _ | ‘ 1

Given P(A)=— , P(B) zi A and B are mutually exclusive, then

17
(C) _ —2—5-
(D) None of these . .
L ga Downloaded from cclchapter.com P. 20
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SECTION-B

2. & fi = [x| W W SEY SR SHEH Ui (domain) A AT (range) I [ARITY

2
Draw the graph of the function ﬂx). = | x| and write its domain and range.
COSOX—cos9x sin2x
sinT?x~s8in3x: cosl0x
Prove that :
cos5x—cos9x sin2x:
sinl7x-sin3x cos10x
4. TR "Cg="Cy, A "Cq W AW A WOW | 2
If "Cg="C,,then find "C,.
ol ' | |
5. 7,x,7@ﬂ“ﬁﬁT%%ﬁxﬂWﬁﬁﬁﬁml _ 2

Find the value of x if "—72-— e - il are in G. P.
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' 6. YW x-7y+5=0% T (3, O)Qmmﬁ‘{@ 1 BT T B

Find the equation of the line perpendicular to the line x - 7y + 5 = 0 and

- - -~passing through (3, 0).

ﬁ%%aﬁqﬁﬁ@'{x—aﬁﬁ'{yeﬁﬂaﬁtb%l&ﬂ%%ﬁ%ﬁ@ﬁﬁ

THEIT 519 iR 2

Find the equation of the circle pé.-Ssing through (0, 0) and cutting intércepts

aand b on x-axis and y-axis respectively.

8. ™ & A T HiY

2
- . T
e (- + =i
x—>»0) X
Find the value of :
T (x + 1)
x—:fO | X
22 o G
9. x % 9y & SAGHAST ST DI o
| X —1 | &, |
xQ
Find derivative of wrLx
3x—1

10. w5 RY F 5 @ AR 3 B0 W ¥ o B § ggesw 2 W MRt @13, @ A R D

e B 3 Tifeear F i) 0

A box contains 5 red balls and 3 .gréen balls. If 2 balls are drawn at random

from the.box, D%Wﬁ h(—:-a}a' &t}[} itv that both balls are red ?
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11.

12.

13.

14.

15.

(12) 2 2ot

Eﬂﬂi%ﬂzﬁreﬁr%mwm uw:u% a‘rzﬁm(ﬁeads}eﬁ'{mamaﬂ)eqﬁ#mﬁw'
ST | 2

Three coins are tossed once. Find the probability of getting 2 heads and 1 tail.
qig <

SECTION - C

s G & 9% & T ST s an | 4

cos 3x + cos X.= cos 2x=0
Find the general solution of the equation :

cosS 3x + ¢cos x—cos2x=0.

3 gAY e & n G&F & AN B A (3n + 8) ¢ (7n + 15) B, W I 159 T
s i | 4

The sum of n terms of two arithmetic progressions are in. the ratio

M,

(83n+ 8) : (7Tn + 15). Find the ratio of their 15th terms.

g (-1, 3) § T 3x -4y = 16 J S0 T & & UG 374 HoC 4

Find the coordinates of the foot of perpendicular from the point (-1, 3) to the
line 3x —4y = 16. |

; 4x+Ssin x Hfsm i |
A fix)= 5x +4sinx’ E-IT f ) W | | _ 4
i Flx )' 4x +58in x ﬁnd o
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16. NG SlHel H 917 ) YWY fe 519 $in 4
- STIIT 32-36 | 36-40 40-44 44-48 . 48-52
FRSITCT 15 17 o ) 22 25

Find mean and standard deviation of the following :

Class-Interval 32-36 36-40 40-44 44-48 48-52
Frequency 125 i skl e oD 1 g 22 % 29
s QIS =]
SECTION-D

17. T sgm%moﬁmﬁéﬁf%ﬁﬁqgwwﬁnsoﬁmﬁﬁm%%‘, 225 Rt e
‘i‘lﬁ%@‘{loaidq”{qq.ﬁfﬁl’fﬁﬁtﬁﬁ%lﬁﬁf%@ﬁ‘ﬁﬁﬂ%ﬁ@%ﬁ:

(i) =g SR HM®l i Tl 9 %,
(i) Fpae et aa I 99 §,
(i) b fermedt daq e diq ¥ 7

6

In a survey of 600 students in a school, 150 students found to be taking Tea

and 225 taking Coffee and 100 were taking both Tea and Coffee. Find how

many students were :
() taking neither Coffee nor Tea,
(i) taking Tea only,

(111)  taking Coffee only ?
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G:IEI_'EI_T :
OR
s #:
X +
(CDS X + COS y}2 4 (Slﬂx —sin y)z A 4CE}52[ - y)
Prove that :

(cos x + cos y)2 + (sinx —~ sin y_.}2 =4 cmsg(x y}

18. PRl IXT & G @ AN S RS H

1 1 1 1 n
+ + o i
Ve 5 . S e ST

_1__,.: —
o (Bred)Br+2) en+4

Prove by Principle of Mathematical Induction that :

1 1 1 1 n

x5 "5%8 "8x1l1 Bn-1)(Bn+2) 6n+4
AT
OR

IR (x+iy)® =u+iv, ér‘raaﬁsqﬁs :

=+ = =4x? -y?)
Xy

If (x+ iy)".3 =u+1iv, then show that :

—+==4(x% -y

X Y
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19.

20.

(15) . Sad

(x+1)° +(x -1 aﬁaﬁﬁmwmaﬂ%mwaﬂ%%(fu)ﬁ 8p 1)66m
oM S B

Find (x+1)° + (x —1)°. Hence or otherwise find («/5 b 1)6 + («/—2_ o 1)6-

R #ifvTT % P(3, 2, -4), 05, 4, -6) &R RO, 8, MIO)WW%IHEEWWW
% PR & Q e omgum # Rwifom ar & ? 6

Prove that P (3, 2, -4), Q(5, 4, -6) and R(9, 8, _10) are collinear, Also find the
ratio in which Q dit_ridea P R
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